Given two vectors, find the angle, ¢, between them. Round o to the nearest whole number. Use the

outline provided.

To be most accurate — bj ‘(“cowkc;nﬁ

t

roun -ofF ercars — pre

i il Keeyp e YWOLJWH“W m C’%—»mre roet Tver Qnck Mﬁ}d@

%zm Dw)\\f\‘j the calen fatar,
13. V=(-4,15) and W=(9,-5)

B V] =,? (-4)*+ 15?2 z@

(Wi =J8) +25 O\/me

i) vew= (-4)(2) 4 (15)(=52

= =36+ e ) AN
i) cosa= \[OU\)
v - |wl
o =Y L
(,05’0( - —_— e, \r\'l
Vagr Vol T 593

0030(,2 ""‘O ()olLff
o= co (06995
o > 13399

Lol & 35

. le
WMeaw ‘H“C o
\1\;&‘:. eer et ? \f’iZM‘W
is 1349% oa s hown hene :

Y ol =397

iy
Math 36, Test 4 Pretest, Ch, 8 b

4. 8=(2,9) and T=(3,1)
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15. X=(-8,6)and Y=(-9,-12)

) X|=Jeuri = Vi
Y] = 915 194 :Q’ﬂf)

iy xev= (-8)(-1)* (é)‘\(-n)
= "1 -72 o}
b s

I>|- ¥

iii) cosa=

L = &

o V22§

Cod ot = O
O(’:: Cpi_l(o)

Cos « =

o
K=

b |

Math 36, Test 4 Pretest, Ch. 8

16. P=(6,-10) and Q=(-9,15)
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